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84 |armit sy | R3-12 [ NE [ER 21] 9] 0.57 [=x= 39] 8 143 i 28.6 20%] 288 1]y | 19] 0
84 |arait sy | R3-12 [ NE [ER 21] 9] 0.69 [x= 64] 13 262 T 52. 4 20%] 288 1]y | 20] o
86 [aLmitt sy | R3-12 [XH)IH hNE  [ER 21 8] 2.51 |7 A~> | 54| 11 502 T 100. 4 20%| 288] 2[uv» 1] 0
86 [aLmitt sy | R3-12 [XH)IH hNE  [ER 21 8l 10.28 |7 AH~> | 53] 11 2,056 bl 411. 2 20%| 288] 2[uv» 2l o
86 [aLaitt sy | R3-12 [XH)Id hE [ER 21] 8] 3.55 [x=¥ 371 8 388 bl 177.6 20%| 288] 2[uv» 3] o
86 |aLmit s | R3-12 [ hE  [ER 21] 8] 10.40 [x= 53] 11 3, 536 Hl 707. 2 20%| 288[ 2[uv» 4 o
86 |aLmit s | R3-12 [ hE  [ER 21] 8] 3.39 [x=¥ 51 11 1, 153 Hl 230. 6 20%| 288[ 2[uv» 5] 0
86 |aLmit s | R3-12 [ hE  [ER 21 88| 3.06 |7 H~> | 64| 13 704 i H 140. 8 20%| 288] 2]\ 6] o
86 |aLmit s | R3-12 [ hE  [ER 21] 8] 2.00 [x= 2] 6 340 B 68.0 20%| 288[ 2[uv» 71 o
86 [sLai s | R3-12 PP [/NE R o1 8] o0.78 [ss= | 84 17 115 B 23.0 20%| 288] 2[v» 8l o
87 |armi s | R3-12 [HIH NE [ER 21 17] 2.00 [x= 48] 10 236 B 47.2 20%| 288] 2] A 1] 0
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87 |aLmmt sty | R3-12 [ [hE [ER 21 17] 0.96 [==¢ 2] 6 163 S 32.6 20%| 288] 2] % 2l o
87 |aLmmt sty | R3-12 [ NE [ER 21 17] 0.15 [==¥ 89 18 23 s 4.6 20%| 288] 2| % 3] o
87 |aLmmt sty | R3-12 [ hE [ER 21 13] 5.57 [==¥ 45 9 893 s 178.6 20%| 288] 2] % 4 1
87 |aLmmt sty | R3-12 [ [hE [ER 21] 13] 3.83 [=x=¥ 50 10 1, 302 s 260. 4 20%| 288] 2] % 4] 3
87 |aLmmt sty | R3-12 [ [hE [ER 21 13[11.56 [==¢ 51 11 790 s 158.0 20%| 288] 2| % 5] 0
87 [3Lmirdskia | R3-12 ST [/hE IR 21 12| 6.00 [7H=> | 69] 14 820 A 164. 0 20%| 288| 2| A 6| 1
87 [sLmirdskia | R3-12 ST [/hE IR 21 12| 0.50 [ == 271 6 85 gl 17.0 20%| 288| 2| A 6] 2
87 |aLmmt sty | R3-12 [ NE [ER 21 12] 112 |7 H~=> | 74] 15 280 s 56. 0 20%| 288] 2| % 6] 3
87 |aLmm sty | R3-12 [ [NE [ER 21 12] 2.07 [==¥ 39] 8 518 s 103.6 20%| 288] 2| % 71 1
87 |armn sty | R3-12 [H)IH hE [ER 21 12] 0.23 [==¥ 2711 6 39 B 7.8 20%| 288] 2] % 71 2
87 |armnt sty | R3-12 [H)IH NE [ER 21 26] 2.70 [x=¥ 24 5 324 S 64. 8 20%| 288] 2| A 8] o
87 |armn sty | R3-12 [H)IH NE [ER 21 26] 0.60 [x=¥ 23] 5 72 B 14. 4 20%| 288 2]~ | 10[ 0
88 |armt bty | R3-12 [ NE [ER 21] 26] 4.88 [=x=¥ 21] 5 586 S 117.2 20%| 288 2]~ | 11 0
88 |armnt sty | R3-12 [ hE [ER 21 26] 1.00 [e 22 5 12 S 2.4 20%| 288 2]A | 12[ 0
88 |armnt sty | R3-12 [ NE [ER 21 26] 4.00 [x= 22 5 480 S 96. 0 20%| 288 2]~ | 13[ 0
88 |armt bty | R3-12 [ NE [ER 21 26] 4.40 [x=¥ 23] 5 528 S 105. 6 20%| 288 2]~ | 14 0
89 [armi bty | R3-12 [ hE  [ER 21 73] 1.35 [==¥ 31 7 284 Bl 56. 8 20%| 288] 3[v» 1] 0
89 [armi bty | R3-12 [ NE  [ER 21 73] 1.58 [x=¥ 31 7 332 Bl 66. 4 20%| 288] 3[v» 2l o
89 [armi bty | R3-12 [ hE [ER 21 73] 0.78 [x=¥ 31 7 164 Bl 32.8 20%| 288] 3[v» 3] o
89 |aLmit bty | R3-12 [ NE R 21 73] 0.53 [x=¥ 31 7 111 Hl 22.2 20%| 288] 3[v» 4 o
89 |armit bty | R3-12 [ NE [ER 21 73] 0.90 [x= 31 7 189 Hl 37.8 20%| 288] 3[v» 5] 0
89 |armit bty | R3-12 [ NE  [ER 21 73] 5.32 [x=¥ 57 12 1,968 Hl 393. 6 20%| 288] 3[v» 6] o
89 |armit bty | R3-12 [ VNE [ER 21] 73] 3.36 [x=¥ 31 7 706 i H 141.2 20%| 288] 3] 71 o
89 |armit sty | R3-12 [ NE [ER 21 90] 8.04 [x=¥ 30] 6 1,688 S 337.6 20%| 288] 3] A 1] 0
89 |aLmit bty | R3-12 [ VNE R 21 90] 1.29 [=x= 51 11 197 Hl 39. 4 20%| 288] 3] A ol 1
89 |armit bty | R3-12 [ NE [ER 21 71] 6.60 [x=¥ 51 11 1,011 Hl 202. 2 20%| 288] 3] A 2 2
89 |armit bty | R3-12 [ NE [ER 21 16] 4.03 [x=¥ 2] 6 685 S 137.0 20%| 288] 3] A 3] o
89 |armit bty | R3-12 [ NE  [ER 21 90] 2.15 [x= 52] 11 731 ik 146. 2 20%| 288] 3] % 4 o
89 |armit sty | R3-12 [ VNE  [ER 21 30] 6.46 [x= 44 9 740 ik 148.0 20%| 288] 3] % 5] 0
89 |armitt sy | R3-12 [ hE [ER 21 90] 0.30 [x= 28] 6 51 S 10. 2 20%| 288] 3] % 6] o
89 [armit sy | R3-12 [ NE [ER 21 71] 0.38 [x=¥ 28] 6 65 B 13.0 20%| 288] 3] % 71 o
90 [arait sy | R3-12 [)IH NE [ER 21 10[10.88 |7 H~> | 74| 15 2,720 i 544. 0 20%| 288] 4]\ 1] 0
90 [arait sy | R3-12 [T NE [ER 21 10] 2.32 [x=¥ 52] 11 789 T 157.8 20%| 288] 4]v» 2l o
90 [arait sy | R3-12 [T NE [ER 21 10| 2.98 |7 AH~> | 53] 11 596 bl 119.2 20%| 288] 4]v» 3] o
90 [arait sy | R3-12 [XE)IH NE [ER 21 10] 2.48 [x= 53] 11 843 bl 168. 6 20%| 288] 4]v» 4 o
o1 [arate by | R3-12 [T NE [ER 21 10| 5.92 |7 Ah~> | 54| 11 1,184 Hl 236. 8 20%| 288[ 4]v» 5] 0
o1 [araite sy | R3-12 [H)IH NE [ER 21 10] 4.40 [x= 4] 11 1, 4196 i 299, 2 20%| 288[ 4]v» 6] o
90 [araite sy | R3-12 [T NE [ER 21 10] 2.00 [x= 28] 6 340 B 68.0 20%| 288[ 4]v» 71 o
90 [araite sy | R3-12 [T NE [ER 10 2.60 [ ¥ 52] 11 884 Hl 176.8 20%| 288] 4] A 1] 0
90 [arais sy | R3-12 [XH)IH NE [ER 10 2,00 [xr=o | 44] 9 220 B 44, 0 20%| 288] 4] % o2l o
ol [aaie sy | R3-12 [T NE [ER 10 0.72 [ 2] 9 105 B 21.0 20%| 288] 4] A 3 1
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91 [GLATH GBS | R3-12 [T |/ E SN 10 0.26 [AF 471 10 42 i H 8.4 20%| 288 4| A 3l 2
91 [GLATH GBS | R3-12 [T |/ E SN 10 1.03 | A% 42 9 150 i H 30.0 20%| 288 4| A 3] 3
91 [GLATH G AARHA | R3-12 [T |/ E SN 10 19.34 [AF 52 11 3, 292 i H 658. 4 20%| 288 4| A 3l 4
91 [sLanstydmsa | R3-12 [SE)ITT |/NE HEIR 10 0.10 |7 24 5 5 BIEES 1.0 20%| 288] 4| A 3] 5
88 [FLATH G A A | R3-12 [T |/ E SN 10 6.31 [AF 52 11 1, 100 i H 220. 0 20%| 288 4| A 3] 6
88 [FLATH G A A | R3-12 [T |/ E SN 10 2.34 [ A F 52 11 796 i H 159. 2 20%| 288 4| A 3 7
88 [FLATH GBS | R3-12 [T |/ E SN 2 1.47 | A X 52 11 500 i H 100. 0 20%| 288 4| A 41 0
88 [FLATH G A A | R3-12 [T |/ E R 2 0.19 |&~h=aw 69| 14 28 i H 5.6 20%| 288 4| A 5] 0
88 [FLATH G A A | R3-12 [T |/ E SN 2 1.18 | A% 48] 10 378 i H 75.6 20%| 288 4| A 6f O
88 [FLATH G AR A | R3-12 [T |/ [E SN 2 4.59 | AX 741 15 1, 486 i H 297. 2 20%| 288 4| A 71 O
88 [FLATH G AR A | R3-12 [T |/ [E AR 10 0.58 |~ b= 44 9 64 ik 12. 8 20%| 288 4| A 8 0
88 [FLATH G AR A | R3-12 [T |/ E SN 10 0.48 [AF 52 11 82 i 16. 4 20%| 288 4| A 9 0
88 [FLATH G AR A | R3-12 [T |/ E AR 10 0.11 |A~Ah=v 44 9 12 i H 2.4 20%| 288 4| A 10] O
91 [BLATH GBS | R3-12 [T |/hE SN 11 71 7.35 [AF 51 11 2,499 i H 499. 8 20%| 288| 4]1% 1[ 0
91 [BLATH GBS | R3-12 [T |/hE SN 11| 10| 0.06 |AF 50( 10 20 i 4.0 20%| 288| 4]1% 21 1
91 [BLATH GBS | R3-12 [T |/hE SN 11| 10| 0.33 |[&AF 50( 10 112 i H 22. 4 20%| 288| 4]1% 21 2
91 [BLATH GBS | R3-12 [T |/hE SN 11l 10| 0.31 [&AF 50( 10 105 i H 21.0 20%| 288| 4]1% 21 3
91 [BLATH GBS | R3-12 [T |/hE SN 11 9] 0.10 |2 X% 50( 10 34 ik 6.8 20%| 288| 4]1% 31 O
92 |BLETH G BARHA | R3-12 [T |/ E SN 211 37| 9.35 | &AF 36 8 2, 338 i H 467. 6 20%| 288 5|4 1 1
92 [5LATH GBS | R3-12 [T |/hE IR 211 37| 0.35 | &A% 36 8 88 ik 17.6 20%| 288 5|4 1l 2
93 [5LATH G AR A | R3-12 [T |/hE IR 21 371 2.05 | o~ 68| 14 574 i H 114. 8 20%| 288 5|4 21 0
93 [5LATH G AARHA | R3-12 [T |/hE IR 11 1| 4.68 | A% 15 3 328 Bl 65. 6 20%| 288| 5]i% 1l 0
93 [5LATH G BARHA | R3-12 [T |/hE IR 11 1| 2.34 |7 hH~> 56 12 515 i 103. 0 20%| 288| 5]i% 21 1
93 [5LATH G BARHA | R3-12 [T |/hE IR 11 1 2.00 | A% 28 6 340 IS 68. 0 20%| 288| 5]i% 21 2
93 [5LATH G AR A | R3-12 [T |/ E IR 11 1| 8.78 |7~ 57 12 1,932 i H 386. 4 20%| 288| 5]i% 31 O
93 [5LATH G AR A | R3-12 [T |/hE IR 11 1| 4.86 |7~ 56 12 1, 069 i H 213.8 20%| 288| 5]i% 41 0
93 [5LATH G AR A | R3-12 [T |/hE IR 11 1| 2.50 | A% 27 6 425 S 85.0 20%| 288| 5]i% 9 0
93 [5LATH G AARHA | R3-12 [T |/hE IR 11 1| 1.56 | A% 29 6 265 S 53.0 20%| 288| 5]i% 10] O
93 [5LATH G BARHA | R3-12 [T |/hE IR 11 1| 1.90 | &A% 28 6 323 Ul 64. 6 20%| 288| 5]i% 11] 0
93 [5LATH GBS | R3-12 [T |/ E SN 11 1 1.10 | A% 29 6 187 Yl 37. 4 20%| 288| 5]i% 12] 0
94 |3LATH GBS | R3-12 [T |/hE IR 4 6.03 | A% 43 9 1, 749 i H 349. 8 20%| 289 1]v» 5] 0
94 |3LATH GBS | R3-12 [T |/hE IR 4 4.69 |2 44 9 1, 360 i H 272.0 20%| 289 1]v» 6f O
94 |5LATH GBS | R3-12 [T |/ E IR 4 3.96 | A% 46| 10 1, 267 i H 253. 4 20%| 289 1]v» 71 O
94 |5LATH GBS | R3-12 [T |/ E IR 4 2.84 | A¥% 45 9 909 i H 181. 8 20%| 289 1]v» 9 0
95 [BLATH GBS | R3-12 [T |/h[E IR 211 18] 5.91 |&AF 491 10 1, 891 i H 378. 2 20%| 289( 2] 1l 0
95 [BLATH GBS | R3-12 [T |/hE SN 211 18] 10.29 | A F 491 10 3, 293 i H 658. 6 20%| 289( 2] 21 0
96 [FLATH GBS | R3-12 [T |/hE SN 18] 10| 15.62 | A 41 9 4, 530 i H 906. 0 20%| 290 0> 1l 0
96 [FLATH GBS | R3-12 [T |/hE SN 18] 10| 8.34 | A 491 10 2, 669 i H 533. 8 20%| 290 0]u» 21 0
96 [FLATH GBS | R3-12 [T |/hE SN 211 84| 0.57 | BT~ 69| 14 59 ik 11.8 20%| 290 0]u» 71 O
97 |BLATH GBS | R3-12 [T |/ E VEIR 11 2 5.98 | o= 61 13 1,615 i 323.0 20%| 291 1w 31 O
97 |BLATH GBS | R3-12 [T |/ E VEIR 11 21 4.29 | A 57 12 1, 587 i H 317. 4 20%| 291 1w 71 O




it o AT AE ST Itk % F2hi 3 2 ZRAR O B R D % ﬁ,
N R FE it MRANHE - I T
g | FREMER | U | BR[| B | | | SRR | Mo MRk pper iews |2
2 (5 Fn) (ha) il i (m3) = OB (M (m3) | &
o7 |aLmm s | R3-12 [ [hE [ER 1] 4] 400 |[m5~> ]| 64] 13 1, 080 s 216. 0 20%| 291 1]v» 8l o
98 [3Lpir@skia | R3-12 |3 [/hE IR 18] 278 0.42 [x=¢ 21 5 50 gl 10. 0 20%| 291[ 2]v» 5[ 0
98 [sLpir@skia | R3-12 |3 [/hE IR 18] 277] 0.52 [x=¢ 21 5 62 Bk 12. 4 20%| 291[ 2] 6] 0
08 |armt sty | R3-12 [ )M [hNE [ER 18] 275] 0.08 |7 ~> | 74] 15 20 s 4.0 20%| 291 2[v» 8l o
08 |armt sty | R3-12 [ )M [hNE [ER 21] 23] 2.33 [z 421 9 676 s 135.2 20%| 291] 3[v» 1| 2
08 |armt st | R3-12 [ )M [hE [ER 21 23] 2.18 [==¥ 54 11 741 s 148. 2 20%| 291] 3[v» 5[ 1
08 |armt st | R3-12 [ )M [NE [ER 21 23] 3.01 [== 371 8 753 s 150. 6 20%| 291] 3[v» 5] 2
98 [sLpir@skia | R3-12 |3 [/NE IR 21 70| 1.55 [&Hm=av 171 4 39 Rk 7.8 20%| 291| 3% 1] 0
08 |armm sty | R3-12 [ [VhE [ER 21 70] 2.59 [== 44 9 687 s 137. 4 20%| 291] 3] % 2l 1
08 |armt sty | R3-12 [H)IH NE [ER 21 70] 0.50 [=x=¢ 59 12 185 i 37.0 20%| 291 3] % 2 2
08 |armt sty | R3-12 [H)IH NE [ER 21 70] 0.70 [x= 69 14 273 i 54. 6 20%| 291] 3] % 2l 3
98 [3LpiirBskA | R3-12 [T [/NE IR 21 70l 2.02 |[&sH=avw | 74 15 295 i 59.0 20%| 291] 3|A 2|l 4
08 |arm sty | R3-12 [ NE [ER 21 70] 0.39 [== 54 11 133 i 26. 6 20%| 291] 3] % 2l 5
08 |armt sty | R3-12 )M NE [ER 21 70] 0.07 [x= 371 8 18 i 3.6 20%| 291] 3|5 3 1
08 |armt sty | R3-12 [H)IH NE [ER 21 70] 0.75 [x= 64| 13 285 i 57.0 20%| 291 3] % 3] 2
08 |armt sty | R3-12 [H)IH NE [ER 21 70[ 0.85 [x=¥ 59 12 315 i 63.0 20%| 291 3] % 3] 3
08 |arm sty | R3-12 [ NE [ER 21 70] 0.52 [== 54 11 177 i 35. 4 20%| 291] 3] % 3] 4
98 [3LpirBsk A | R3-12 ST [/NE IR 21 70[ 0.20 |[&xHavw | 24 5 10 Bk 2.0 20%| 291| 3| A 3] 5
08 |armt sty | R3-12 [H)IH NE  [ER 21 70] 0.88 [x=¥ 46] 10 282 i 56. 4 20%| 291] 3] % 3] 6
08 |armt bty | R3-12 [XE)IH hE [ER 21 70] 1.03 [x= 371 8 258 i 51.6 20%| 291] 3|5 3] 7
08 |armt bty | R3-12 [ NE [ER 21 70[ 0.08 [x= 54 11 27 jdan, 5.4 20%| 291] 3|5 1
08 |armit sty | R3-12 [ NE [ER 21 70] 2.13 [x=¥ 54 11 724 ik 144.8 20%| 291] 3|5 4 2
08 |armt bty | R3-12 [ NE [ER 21 70] 0.68 [x=¥ 62] 13 258 i 51.6 20%| 291 3] % 5] 0
08 |armit bty | R3-12 [)IH hE [ER 21 70[ 0.08 [x= 39 8 20 i 4.0 20%| 291] 3|5 6] 1
08 |armit bty | R3-12 [ NE [ER 21 70] 0.78 [x= 39 8 195 i 39.0 20%| 291] 3|5 6] 2
08 |armt bty | R3-12 [ NE [ER 21 70] 1.83 [x=¥ 54 11 622 ik 124. 4 20%| 291] 3|5 71 1
08 |armt bty | R3-12 [ NE [ER 21 70] 0.51 [x= 67 14 199 i 39. 8 20%| 291 3] % 71 2
08 |armit sty | R3-12 [ NE [ER 21 70] 0.35 [ss= | 39] 8 35 i 7.0 20%| 291] 3|5 71 3
08 |armit sty | R3-12 [ hE [ER 21 70] 3.26 [x=¥ 64 13 1,239 i 247. 8 20%| 291 3] % 71 4
08 |araitt sy | R3-12 [ hE [ER 21 70] 0.78 [x= 32 7 164 i 32.8 20%| 291] 3] % 71 5
08 [araitt sty | R3-12 [ hE [ER 21 70] 1.81 [x= 18] 4 127 % 25. 4 20%| 291 3] % 71 6
08 [araitt sy | R3-12 [ hE [ER 21 70] 1.38 [ssh=y | 74] 15 201 W 40. 2 20%| 291 3] % 71 7
08 [armitt by | R3-12 [ NE  [ER 21 70] 1.06 [x= 25 5 180 S 36. 0 20%| 291 3] % 71 8
99 [arait sy | R3-12 [XE)IH NE [ER 21 92] 1.06 [x= 59 12 392 i 78. 4 20%| 291] 3] % 9 1
99 [arait sy | R3-12 [XE)IH NE [ER 21 92] 0.57 [=x= 4] 11 194 i 38. 8 20%| 291] 3] % 9 2
99 [armit s | R3-12 [H)IH hE [ER 21 92] 0.35 [x= 64] 13 133 i 26. 6 20%| 291] 3] % 9] 3
99 [armit s | R3-12 [H)IH NE [ER 21 92[ 0.18 [T~ | 49] 10 41 s 8.2 20%| 291] 3| A 9] 4
08 [armit sy | R3-12 [ NE [ER 21 70] 2.47 [x= 411 9 716 ik 143.2 20%| 291 31~ | 10f 0
08 [armit sy | R3-12 [ NE [ER 21 70[ 0.50 [WF~> | 35 7 95 s 19.0 20%| 291 31~ | 11 o
08 |armit sy | R3-12 [SE)IH hE [ER 21 70 0.69 [&xm= | 74] 15 101 B 20. 2 20%] 291 3[A | 12] 0
08 |armit s | R3-12 [WE)IH NE  [ER 21 70[ 0.40 [HF~> | 60] 12 108 raan] 21.6 20%| 291 3]A | 13[ 0
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99 |armitresne | R3-12 [ )M [NE [ER 1.26 |2 64| 13 479 s 95. 8 20%| 291 3]~ | 18] 0
99 |armirsne | R3-12 [ )M NE [ER 21] 1] 0.18 [==¥ 49 10 58 s 11.6 20%| 291] 3[ix 3] o
99 |arm s | R3-12 [ )M NE [ER 21] 1] 0.39 [z 64| 13 148 s 29. 6 20%| 291] 3[ix 4 o
99 |armresne | R3-12 [ )M hE [ER 21] 1] 2.72 [==¥ 471 10 870 s 174.0 20%| 291] 3[ix 5] 0
99 |armresne | R3-12 [ )M hE [ER 21] 1] 0.37 [==¥ 44 9 107 s 21.4 20%| 291] 3[ix 6] o
99 |armrestne | R3-12 [ )M hNE [ER 21] 1] 0.63 [x=¥ 45 9 202 s 40. 4 20%| 291] 3[ix 71 o
99 |armresne | R3-12 [ )M NE [ER 21] 1] 0.89 [== 44 9 258 s 51.6 20%| 291] 3[ix 8l o
99 |armitrdestne | R3-12 [ [NE [ER 21 1] 1.19 [==¥ 59 12 440 s 88.0 20%| 291] 3[ix 9] o
99 |armresne | R3-12 [ )M [hE [ER 21] 1] 1.25 [==¥ 46] 10 400 s 80. 0 20%| 291] 3lix | 10f o
99 [arm st | R3-12 )M NE [ER 21] 1] 0.33 [x=¥ 40 8 96 Bl 19.2 20%| 291f 3lix | 11f o
99 |arm sty | R3-12 [H)IH NE [ER 21 1] 0.52 [HF~> | 69| 14 146 Bl 29. 2 20%| 291f 3lix | 12[ 0
99 [arm st | R3-12 [HE)IH NE [ER 21] 1] o0.21 [x=¥ 371 8 53 Bl 10. 6 20%| 291f 3lix | 13[ 0
99 [sLai mas | R3-12 [FEINH VhE [Fdii@dR 1| 8] 2.07 [z 49 10 385 Bl 77.0 20%| 2911 3]ic 2l o
100 [samrs gemksn s | R3-12 IR VNE [ER 21] 2] 2.01 [x=¥ 36] 8 502 Bl 100. 4 20%| 291 4]v> 1] 0
100 [samrsl gemksn s | R3-12 IR VNE [ER 21] 2] 2.76 [x=¥ 51 11 938 Bl 187.6 20%| 291 4]v> 2l o
100 [samrs gemksn s | R3-12 [PEJITR VNE [ER 21] 2] 7.39 [== 471 10 924 Bl 184. 8 20%| 291] 4] % 1| 2
100 [samrs gemksn s | R3-12 IR VNE [ER 21] 2 3.34 [x=¥ 36] 8 835 Bl 167.0 20%| 291] 4] % 1] 3
100 [samrs gemksn s | R3-12 [PEJITR VNE [ER 21] 2 3.97 [x=¥ 471 10 497 Bl 99. 4 20%| 291] 4] % 2l 3
100 [samrs gemksn s | R3-12 [PEJITR VNE [ER 21] 2 5.61 [x=¥ 48] 10 1,795 Bl 359. 0 20%| 291] 4] % 2 4
100 [Bamsy gemksn s | R3-12 IR VNE [ER 21] 2] 9.56 [x=¥ 51 11 3, 250 Hl 650. 0 20%| 291] 4] % 3] 2
101 [Bemsoy gemksn s | R3-12 [PEJITE VNE [ER 21] 2 3.84 [x=¥ 41 9 1,114 Hl 222. 8 20%] 291] 4]A | 13] 0
101 [Bemoy gemksns | R3-12 [PEJITE VNE [ER 21] 2] 2.74 [x= 42 9 314 Hl 62. 8 20%] 291] 4]A | 14] 0
101 [Bemsoy gemksn s | R3-12 BT VNE [ER 21] 2 3.17 [x=¥ 49 10 396 Hl 79. 2 20%] 291] 4]A | 15[ 0
102 [3Lan s fmkin e | R3-12 [T [/NE [Fa iR 1| 4] 18. 11 [=x=¥ 38] 8 4,528 Hl 905. 6 20%| 292[ 1% 1] 0
103[3Lan s fmkin e | R3-12 [T [/NE [Fad iR 1| 6] 2.19 [z 471 10 701 Hl 140. 2 20%] 292] 1[Iz 1] 0
103[3Lan s fmkin e | R3-12 [T [/NE [Fad g 1| 6] 3.59 [x=¥ 46] 10 1, 149 Hl 229. 8 20%] 292] 1[Iz 3] o
103[3Lan s fmkin e | R3-12 [T [/NE [Fad g 1| 6] 7.43 |=x=¥ 56 12 2, 749 Hl 549. 8 20%] 292] 11z 4 o
103[3Lai s fmkin e | R3-12 [T [/NE [Fad iR 1| 6] 4.28 [=x=¥ 57 12 1,584 Hl 316. 8 20%] 292] 11z 5] 0
103[3Lai s fmkin e | R3-12 [T [/NE [Fad iR 1| 6] 1.67 [x=¥ 52] 11 568 Hl 113.6 20%] 292] 11z 6] o
102 [aeai s epksn s | R3-12 [PEJIE VNE ) 175] 24| 3.53 |2 =¥ 50 10 1, 200 i 240. 0 20%| 292] 1% 1 1
103 [arai o epksn s | R3-12 [PEJITE VNE [Fndign 1| 3]10.63 |2 49 10 3, 402 s HH 680. 4 20%| 292[ 1]~ ol 1
1o3|aLai sk s | R3-12 [PEJIT [hE [Foda R 1| 3] 1.23 |=x=% 35 7 308 s HH 61.6 20%| 292[ 1]~ o 2
104 [ara o epksns | R3-12 B VNE [Fndign 1| 44] 0.16 |2 ¥ 48] 10 51 s HH 10. 2 20%| 292[ 2]v~ | 55[ 0
105 [ara o gepksns | R3-12 B VNE [Fndign 1] 407] 6.57 |2 ¥ 46] 10 2,102 bl 420. 4 20%] 292f 2lix | 32 ©
105 ekt sk | R3-12 [PEJIT [hE [Foda R 1] 241 0.08 [z 2] 9 23 i 4.6 20%] 292] 2[iz | 20 o
105 [aemis s gemksns | R3-12 [PEJIE VNE [Fndign 1] 242] 0.10 |2 =¥ 53] 11 34 i 6.8 20%] 292 2lic | 21 o
105 |kt s s | R3-12 [3E)I i [/NE I GEN 11243 0.13 [xh=w | 69] 14 19 i H 3.8 20%| 292 2tz | 22 0
105 |kt sk s | R3-12 [3E)I i [/NE I G 1] 245 0.10 [xHh= | 69] 14 15 i H 3.0 20%| 292 2tz | 24 0
105 |kt sk s | R3-12 [3E)I i [/NE I G 1] 320f 0.09 [7Hh=> | 57] 12 20 i H 4.0 20%| 292| 2|1 1] 0
105 |aLamt s s s | R3-12 [3E)IH [/NE RO R 1] 262 0.68 [7Hh~=> | 64] 13 156 i H 31.2 20%| 292| 2|1z 2l 0
105 [aea o mksn s | R3-12 [NEJITR VNE [Fndiign 1] 288] 0.24 |2 ¥ 64] 13 91 i 18.2 20%| 292 21z | 24] o
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104 [sLai rdmmae | R3-12 PRI VhE g @R 1] 1]13.00 [x 32| 7 2,730 i 546. 0 20%] 292] 2[~T1 73] ©
105 [sLai rmkae | R3-12 [PEJNT /hE [Fndi@R 1 1] 3.98 [z 31 7 336 i 167. 2 20%] 292 2]~ 1 74] 0
106 [sLai rmae | R3-12 [PEJNH VhE [BEOR 2l 6] 7.20 [» ¥ 41 9 2, 088 i 417.6 20%| 292] 2] & 2] 0
106 [sLai rmae | R3-12 [PEJNH VhE [BEOR 2l 6] 2.27 [x¥ 42] 9 658 i 131. 6 20%| 292] 2] & 3] 0
106 [sLai rmae | R3-12 [PEJH VhE [BEOR 2] 6] 2.00 [A ¥ 28] 6 340 gl 68. 0 20%| 292] 2] & 4] 1
107 [sLai rdmmas | R3-12 PRI VhE [Dia 136] 9] o0.21 [xm=w | 69] 14 30 s 6.0 20%] 293] 0] A 1l o
107 [sLai rdmmas | R3-12 PRI VhE [Dia 174] 10] 0.30 [ = | 69] 14 44 s 8.8 20%] 293] 0] A 2] 0
107 [sLaii rdmmas | R3-12 PRI VhE s 175] 1] 0.77 [ = | 64] 13 112 s 22. 4 20%] 293] 0] A 9] 0
107 [sLai rdmkas | R3-12 PRI VhE s 175] 6] 0.33 [ | 64] 13 48 s 9.6 20%] 293] oA | 10] 0
107 [BLans i gmkan s | R3-12 PRI [/hE I2 175] 17] 0.10 [ = | 74] 15 15 i 3.0 20%] 293] oA | 20] 1
107 [BLans i gmkan s | R3-12 [FE)I [/hE )I2 175] 17] 0.38 | = | e64] 13 55 i 11.0 20%] 293] oA | 20] 2
107 [BLans i gmkan e | R3-12 [FENI [/hE )I2 175] 17] 0.15 |2 =¥ 2] 6 26 S 5.2 20%] 293] oA | 20] 3
107 [BLans i gmkan e | R3-12 [FE)IE [/hE )I2 175] 6] 0.10 [&xm= | 64] 13 15 i 3.0 20%] 293] oA | 25] 0
107 [BLans s gmkan s | R3-12 [FENIE [/hE 12 64 2 0.07 [x=¥ 54 11 24 Bl 4.8 20%] 293] oliz | 24] o
107 [BLans i gmkan e | R3-12 [FE)E [/hE I2 64 1] o0.16 [ = | 54 11 21 i 4.2 20%] 293] oliz | 25] o
108t sk s | R3-12 [PEJIITT [NE e 1L o 11] 1.40 [x=¥ 69 14 546 i 109. 2 20%| 293 ofic 5] 0
108t sk s | R3-12 [P [NE e 1L ol 4] 2.05 [x=¥ 64 13 539 i 107. 8 20%| 293 ofic 8] o
108[3Lai i Fmkin e | R3-12 [T [/hNE [Fa iR 1| 7]12.57 |=x=¥ 43] 9 3, 645 Bl 729.0 20%| 293] o[z 1l o
109t sk s | R3-12 [P [E [Ea 1L 2 8] 0.29 |sm=aw | 74 15 42 i 8.4 20%| 294 o]v> 2 0
109 [3Lan i gmkan ey | R3-12 [FEJITE [/hE )12 173] 1] 2.19 [» ¥ 371 8 548 Hl 109. 6 20%| 294] o[\ 7] 2
109 [3Lan i Zmkan ey | R3-12 [FEJIE [/hE )2 173] 10] 0.45 "= | 74] 15 66 b 13.2 20%] 294] oA | 54 o
110 [3Lan gtk | R3-12 [FEJIE [/hE |)I2 172] 2] 10.00 [2 ¥ 52 11 3, 400 Hl 680. 0 20%| 294] o]iz 1l o
1103 gtk | R3-12 [FEJIE [/hE I8 172] 2] 10.00 [2 ¥ 53] 11 3, 400 Hl 680. 0 20%| 294] o]iz 3] 0
111 L gmkins | R3-12 PRI [VhE [fEOR 2l 9] 16.65 [x=¥ 31 7 3, 496 Hl 699. 2 20%| 295] o[> 1 1
1123 mkinse | R3-12 PRI VhE [fEOR ol 8l 14.00 [x=¥ 30] 6 2,940 S 588. 0 20%| 295] o[> 2 1
1123 mkinse | R3-12 PRI VhE [fEOR ol 8] 1.24 [x=¥ 2] 6 211 S 42.2 20%| 295] o[> 2] 2
1123 mkinse | R3-12 PRI VhE [fEOR 2l 5] 1.39 [x=¥ 49] 10 445 W 89. 0 20%| 295] o[> 3] 0
113 [aeasy gemksns | R3-12 [PEJITE VNE [fEo R 2 7] 2.65 [ x=F 15 3 186 FRik 37.2 20%| 295[ 0] A 2] 1
113 [aeas gepksns | R3-12 BT VNE [fEo R 2 7] 0.03 [x=¥ 4] 3 0 FRik 0.0 20%| 295[ 0] A 2 2
113 [aeaiss gepksns | R3-12 [ VNE [fEoR 2l 7] 005 |Aaw | 16| 4 1 FRik 0.2 20%| 295[ 0] A 2] 3
L13[aeai s gepksns | R3-12 [EJIE VNE [fEoR o 7] 1.84 |2 6] 4 129 FRik 25.8 20%| 295[ 0] A 2| 4
L13[aeai s gepksns | R3-12 [EJIE VNE [fEoR 2l 7] 0.46 |xAaw | 16| 4 12 FRik 2.4 20%| 295[ 0] A 2| 5
L13[aeam s fepksns | R3-12 [EJIE VNE [fEo R 2l 7l 044 hT~=r ] 16| 4 26 FRik 5.2 20%| 295[ 0] A 2| 6
L13[aeam s fepksns | R3-12 [EJIE VNE [fEo R 2 7] 0.44 |2 6] 4 31 FRik 6.2 20%| 295[ 0] A 2 7
L13[aeai s gepksns | R3-12 [EJIE VNE [fEo R 2l 7] 0.38 A | 16| 4 10 FRik 2.0 20%| 295[ 0] A 2| 8
L13[aeai s gepksns | R3-12 [PEJIE VNE [EEo R 2l 7l 025 | hT~=v ] 16| 4 15 BRIk 3.0 20%| 295[ 0] A 2] 9
L13[aeai s epksns | R3-12 [PEJIE VNE [fEo R 2l 7] 0.09 A= | 14] 3 1 FRik 0.2 20%| 295[ 0] A 2] 10
113 sk e | R3-12 [FEJITE [/hE )12 172 1] 15.57 [# ¥ 2] 6 2, 647 B 529. 4 20%] 295] 0] A 5] 0
1133 gmkin e | R3-12 PRI [VhE [fEOR ol 4] 15.00 [x= 51 11 5, 100 e | 1,020.0 20%| 296] o[> 1l o
1133 gmkin e | R3-12 [FEJITR [VhE [fEOR o 4] 8.81 [x ¥ 50 10 2,995 B 599. 0 20%| 296] o[> 2] 0
1143 amin e | R3-12 PRI VhE [fEOR ol 1] 3.95 [ =w | 74] 15 577 i 115. 4 20%] 296] 0] A 1l o
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114 3kmnt st s | R3-12 |1 [/NE] fEDIR 2 1] 0.40 [T A= 74| 15 100 b 20.0 20%| 296[ 0|5 2] 0
114 3kmnt s st e | R3-12 |1 [/NE] fEDIR 2 1] 8.9 [T A=Y 47 10 1,618 b 323.6 20%| 296[ 0|5 31 0O
114 3kmnt st e | R3-12 |1 [/NE] fEDIR 2 1 3.56 |[AF 69 14 1,388 b 277.6 20%| 296[ 0|5 4 0
114 3kmnt st e | R3-12 |1 [/NE] fEDIR 2 1 4.16 |[AF 59| 12 593 A 118.6 20%| 296[ 0|5 5 0
114 3kmnt st e | R3-12 |1 [/NE] fEDIR 2 1] 0.10 [TA=> 74| 15 25 A 5.0 20%| 296[ 0|5 6] 0
114 3kmnt st e | R3-12 |1 [/NE fEDIR 2 1] 0.50 [T A= 74| 15 125 A 25.0 20%| 296[ 0|5 71 0
114 3kmnt s st s | R3-12 |1 [/NE fEDIR 2 1] 0.23 [T A=Y 74| 15 58 A 11.6 20%| 296[ 0|5 8] 0
114 3kmnt s st e | R3-12 |1 [/NE fEDIR 2 [ 0.50 |[AF 59| 12 185 A 37.0 20%| 296[ 0|5 9] 0
114 |3kmnt s et a | R3-12 |1 [/NE fEDIR 2 1| 2.62 [T A=Y 64 13 236 b 47. 2 20%| 296[ 0|5 10] 0O
114 |5AnTH Bpkfi s | R3-12 I /NE AE DR 2 1| 1.8 [T A=Y 59| 12 143 jiraan] 28.6 20%| 296] 0|5 11] 0O
115 |BAmTHUG BRpkfi s | R3-12 I /NE BE DR 2 [ 1.34 |[RF 64 13 509 jiraan] 101.8 20%| 296[ 0|5 12] 0O
115 |BAmTHUG BRpkfis | R3-12 I /NE BE DR 2 1 1.86 |AF 79| 16 763 i 152. 6 20%| 296] 0|5 13] 0O
115 |BAmTHUG BRpkfis | R3-12 I /NE BE DR 2 [ 1.53 |AF 40 8 444 jiraan] 88. 8 20%| 296[ 0|5 14] 0O
115 |BAmTHUG BRpkfis | R3-12 I /NE BE DR 2 [ 0.55 |AF 28 6 94 B 18.8 20%| 296[ 0|5 15] O
116 |5AnTHUG Bpkfis | R3-12 I /NE BE DR 2 3] 28.01 [A¥ 501 10 9,523 i 1,904. 6 20%| 296 0]i% 1[ 0
116 |5AnTH BRpkfas | R3-12 I /NE BE DR 2 3| 1L.70 |7 H=Y 501 10 340 i 68. 0 20%| 296 0]i% 2] 0
115 |BAmTHUG BRpkfa s | R3-12 I /NE BE DR 2 3 1.0l |[TH=Y 51| 11 202 i 40.4 20%| 296 0]i% 31 0
115 |BAmTHUG Bpkfas | R3-12 I /NE BE DR 2 3] 2.62 [AF 51| 11 891 i 178. 2 20%| 296 0% 4 0
115 |BAmTHUG Bpkfa s | R3-12 I /NE BE DR 2 3] 0.66 [AF 51| 11 224 i 44.8 20%| 296 0% 5 0
115 |BAnTH Bpkfas | R3-12 I /NE fEDIR 2 3| 1.64 [TH= 51| 11 308 i 61.6 20%| 296 0]i% 6] 0
115 |BAmTH BRpfas | R3-12 I /NE fEDIR 2 3| 17.17 [A ¥ 51| 11 5, 838 jdan, 1,167.6 20%| 296 0]i% 71 0
115 |BAmTHG BRpfas | R3-12 I /NE fEDIR 2 3| 3.08 [TH=Y 51| 11 616 i 123. 2 20%| 296 0]i% 8] 0
115 |BAmTH BpfaE | R3-12 I /NE fEDIR 2 3] 0.20 [AH=7 64 13 29 i 5.8 20%| 296 0]i% 9] 0
116 |5AmTH BRpAaE | R3-12 I /NE fEDIR 2 3| 1.39 [T H= 50 10 278 i 55.6 20%| 296 0]i% 10] 0O
115 |BAmTH BRpAaE | R3-12 I /NE fEDIR 2 3| 0.25 [T H= 51| 11 50 i 10. 0 20%| 296 0]i% 11] 0
115 |BAmTH BRpfas | R3-12 I /NE fEDIR 2 3] 0.06 [AH=r 64 13 9 i 1.8 20%| 296 0]i% 12] 0O
115 |BAmTH BRpfas | R3-12 I /NE fEDIR 2 3] 2.00 [AF 26 6 340 ks 68. 0 20%| 296 0]i% 13] 0O
117 |BAmirH s BRpksis | R3-12 I /NE RIR 21 176] 0.33 |m A =2 59| 12 46 &k 9.2 20%| 297[ 0]\ 3] 1
117 |BAmrH s fRpkfis | R3-12 I /NE RIR 21[ 176 1.12 R A= 24 5 56 ks 11. 2 20%| 297[ 0]\ 3 2
117 |BAmirH G BRpAE | R3-12 |1 /NE ZRIR 21[ 176] 0.34 |m =2 34 7 31 i 6.2 20%| 297[ 0]\ 3l 3
117 |5hmiH s BpAs | R3-12 |1 /NE RIR 21[ 176] 0.06 |~ A= 59| 12 8 raan 1.6 20%| 297[ 0]\ 3| 4
118 |sAmiH T ARMALE | R3-12 |11 /NE RIR 21 99| 3.38 |A¥F 42 9 980 raan 196. 0 20%| 297[ 0]\ 12] 0
118 |sAmH BRMALE | R3-12 |11 /NE RIR 21 32| 6.36 | A% 501 10 2,162 s 432. 4 20%| 297[ 0]\ 13] 0
119 |sAniH G BRpALE | R3-12 |1 /NE RIR 21 31| 5.07 |[A¥ 501 10 1,724 s 344. 8 20%| 297[ 0]\ 14| 0
120 |BAmTHI BRpALE | R3-12 |1 /NE RIR 3 1| 8.77 |A¥ 48[ 10 2, 806 i 561. 2 20%| 297 0|5 4] 1
121 |BAmiH G BRpALE | R3-12 |17 /NE RIR 11 5| 3.58 [A¥F 501 10 1, 217 s 243. 4 20%| 297[ 0% 1 0
122 |shmiH s BRpAs | R3-12 I /NE IR 18 1| 5.62 |[A¥ 38 8 1,405 s 281.0 20%| 297[ 0T 4] 1
117 |BAmiH s BRpAls | R3-12 I /NE JIJE 52 [ 2.10 |23 51| 11 714 s 142. 8 20%| 298[ 0]\ 1 0
1 18| sAmiH G ARMALE | R3-12 |11 /NE JIJE 52| 12 1.45 [A¥F 49 10 464 s 92.8 20%| 298[ 0]\ 3] 1
117 |BAmiH s RpAs | R3-12 I /NE J I 52| 20 1.86 [AHh =¥ 44 9 205 raan] 41.0 20%| 298| 0|V | 23] 1
117 |shmiH Iy fpksis | R3-12 I /hE JIJE 52| 20 0.47 [KHI =¥ 59| 12 66 raan] 13.2 20%| 298| Ofv™ | 23] 2
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117 akmnte sty | R3-12 [ [hE D E 52| 21 0.43 [xp = [ 44] 9 47 s 9.4 20%| 298] ofv~y | 24| 1
117 akme sty | R3-12 [ [hE D E 52| 21 0.67 [xp=v | 24] 5 34 o) 6.8 20%| 298] o[\~ | 24] 2
117 |akmner desbney | R3-12 [ [hNE D E 52| 21 0.56 [7 VU 2] 6 39 S 7.8 20%| 298] o[\~ | 24] 3
117 akane sk | R3-12 [ [hNE D E 52| 211 0. 77 [xp = [ 44] 9 85 s 17.0 20%| 298] o> | 24] 4
119]akmmte sty | R3-12 [ [hNE D E 50 1] o0.14 [x=X 64| 13 53 s 10. 6 20%| 298] 0] A 5[ 1
119]akmmte sty | R3-12 [ [hE D E 50 1] o0.16 [ %=X 64| 13 61 s 12.2 20%| 298] 0] A 5] 2
119]akmmte sty | R3-12 [ [hNE D E 50 1] 3.61 [%=X 471 10 1, 155 s 231.0 20%| 298] 0] A 6] o
120 akmne sk | R3-12 [ [hNE D E 48[ 7] 0.65 | av | 69 14 94 s 18.8 20%| 298] ofix 1] 0
120 akmne sk | R3-12 [ [hNE D E 48] 9] 0.58 [==¥ 30] 6 122 FIES 24, 4 20%| 298] ofix 2l o
120 [semmsy gepksns | R3-12 )R VNE IR H 48] 17] 0.12 [=2X 30] 6 25 B 5.0 20%| 298] olix | 16] 0
121 [easoy gemksns | R3-12 )R VNE IR H 48] 37] o.10 [xA= | 28] 6 7 S 1.4 20%| 298] olix | 33[ 0
121 [eamsoy gepksns | R3-12 )R VNE IR H 48] 77] 0.38 [ A= | 59 12 53 Bl 10. 6 20%| 298] olix | 65[ 0
121 [emmos gepksns | R3-12 )R VNE IR H 48] 56| 0.13 |7 H~> | 64 13 30 Bl 6.0 20%| 298] olix | 67[ 0
121 [eamsoy gepksns | R3-12 )R VNE IR H 48] 57] 0.31 [=2X 48] 10 99 Bl 19.8 20%| 298] olix | 68[ 0
121 [emrsoy gepksns | R3-12 IR VNE IR H 48] 62] 0.13 [=2X 471 10 42 i HH 8.4 20%| 298 olix | 74 0
123 [saarH gemksn s | R3-12 [PEJI [/NE F 163 92] 0.20 [=x=¥ 62| 13 76 Bl 15. 2 20%| 299[ o] A | 16[ 0
123 [saarH gemksn s | R3-12 I [/NE LT 163] 96] 0.16 [y =v | 69] 14 23 Bl 4.6 20%| 299 o] A | 20 o
1245k sk A | R3-12 [3E)IT [G)RA L 56 1] 4.07 |A¥ 51 11 1, 384 i H 276. 8 20%| 299| ofix 1] 1
1245k sk A | R3-12 [3E)IvT (G918 L 56 1] 2.43 |A ¥ 51 11 826 i H 165. 2 20%| 299| ofix 1| 2
1235y fmksn s | R3-12 [MEJI 7 [EDEA T 69 1] 2.61 [x=¥ 51 11 887 Hl 177. 4 20%| 299] olix 6] o
125 [aLmis s emksn s | R3-12 [SEJIF [BDHA T 271 1] 18.37 [x=¥ 50 10 6, 246 Hl 1,249.2 20%] 299] oliz 4 o
125 [aLmis s emksn s | R3-12 [SEJIF [BDHA T 28 1.54 [x¥ 50 10 524 Hl 104. 8 20%] 299] oliz 6] o
125 [aLis s emksn s | R3-12 [PEJIF [BDHEA T 25 2.62 [&xm= | 74] 15 383 Hl 76. 6 20%| 299] ofiz 71 o
125 [aLis s emksn s | R3-12 [SEJIF [E0HA T 25 5.14 [ A ¥ 49 10 1,645 Hl 329.0 20%] 299] oliz 8] o
125 [sLis s femksi s | R3-12 [SEJI 7 [BDEA T 25 2.40 [& ¥ 48] 10 768 Hl 153. 6 20%] 299] oliz 9 o
123 5Ly fmksn s | R3-12 [SEJIF [EDHA T 69 1] 1.32 [x=¥ 49 10 4292 Hl 84. 4 20%| 299] oliz | 10 0
126 [aLarsy fmksn s | R3-12 [PEJI [/NE LT 214 0.07 [x= | 69] 14 10 Hl 2.0 20%| 300] ofv> 2l o
126 [aLarsy fmksn s | R3-12 [PEJI [/NE IF 88 2 0.13 [x=¥ 61] 13 49 Hl 9.8 20%| 300] ofv> 5] 0
126 [aLars s femksn s | R3-12 [PEJI [/NE IF 167] 55| 0.18 [=x=¥ 69 14 70 Hl 14.0 20%| 300 o[u\» | 10] O
126 [aLais s fmksns | R3-12 [ [/NE L 167] 49] 0.26 |[xm= | 64] 13 38 i 7.6 20%| 300] o[\ | 17] 1
126 [aLa s pksn s | R3-12 [EJI [/NE IF 167] 49] 0.01 [=x=¥ 33] 7 2 T 0.4 20%| 300] o[\~ | 17] 2
126 [aLa s pksn s | R3-12 [EJI [/NE IF 167] 34] 0.54 [=x =¥ 59 12 200 T 40. 0 20%| 300] o[\~ | 27] o
127 [aLai s epksn s | R3-12 [EJI [VNE IF 170] 12] 0.35 [=x =¥ 69] 14 137 T 27. 4 20%| 300] o[\~ | 51 0
127 [aLai s epksn s | R3-12 [EJI [VNE L 170] 11] 0.30 [xp= | 74] 15 44 bl 8.8 20%| 300] o[\~ | 52] 0
127 [arai s epksn s | R3-12 [EJIT [VNE L 170 10] 0.49 [xp = | 74] 15 72 bl 14. 4 20%| 300] o[\~ | B3] 0
127 [ahais o gemksn s | R3-12 [EJIT [VNE I 170] 2] 1.09 [xpm= | 74] 15 159 Hl 31.8 20%| 300] o[~ | B4 0
127 [ahmis o femksn s | R3-12 [EJI [VNE I 170 3] 0.68 [xm=y | 74] 15 99 Hl 19.8 20%| 300 o[~ | 55[ 0
127 [ahais o femksn s | R3-12 [EJI [/NE F 170] 4] 1.26 [=x=¥ 41 9 365 Hl 73.0 20%| 300] o[\~ | B6] 0
126 [aLaisy fpksns | R3-12 [EJI [/NE F 170] 1] 0.33 [=x=¥ 57 12 122 Hl 24, 4 20%| 300] ofuvx | 59 0o
126 [aLa s fpkss | R3-12 [SEJITTR [VNE r 167] 4] 0.26 [x =¥ 57 12 96 B 19.2 20%] 300] ofu\x | 62] 0
126 [aLa s fpksns | R3-12 [SEJITTR [VNE r 0.01 [ 52] 11 3 B 0.6 20%] 300] ofu\x | 70] 0
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127 akaite st | R3-12 [ [/NE LT 170] 5] 0.89 |AHF=w | 79] 16 131 i 26. 2 20%| 300] 0] A 1] 0
127 akaie st | R3-12 [ [/NE LT 170] 13| 1.13 |&AHF=aw | 79] 16 166 i 33. 2 20%| 300] 0] A 2l o
127 akaite st | R3-12 [ [/NE LT 170] 14| 0.74 [=x=¢ 44 9 215 s 43.0 20%| 300] 0] A 3] o
127 akaite st | R3-12 [ [/NE LT 170] 6] 0.31 [=x=¢ 59 12 115 s 23.0 20%| 300] 0] A 4 1
127 akaite st | R3-12 [ [/NE LT 170] 6] 0.58 |[AHm=aw | 79] 16 85 i 17.0 20%| 300] 0] A 4 2
127 akaite st | R3-12 [ [/NE LT 170] 7] 1.02 |[&AHF=aw | 79] 16 150 i 30.0 20%| 300] 0] A 71 o
127 akane st | R3-12 [ [/NE LT 170] 8] 0.72 |&AH=avw | 32] 7 65 i 13.0 20%| 300] 0] A 9] o
127 akante st | R3-12 [ [/NE LT 1700 9] 1.00 |[AH = | 69| 14 145 i 29.0 20%| 300[ o]~ | 10[ 0
128 ahmit b e | R3-12 [P [/hEL [dMaa iy [ 210 9] 0.41 |AA=v | 79| 16 60 i 12.0 20%| 300f olic | 19 0
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